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1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6.  English version is authentic.
7. Use only OMR to answer this question paper.
Marks
1 Which is the largest ecosystem on the earth 1
a) Forest b) Desert c) Sea d) Grassland
Q o yec] Uq] lefl H1g 851 [weH 8 .
a) %216 b) 2L ¢) A, d) elldsil BHlel
» | Babool and cactus like plant are found in which ecosystem 1
a) Tropical b) Desert c) Fresh water d) Coral reef
| Hlod wal 552 Bl WS 5UL BSI[RIRUUI AL HA D 1
a) GWs5(26itly b) 28 ¢) dlowt UlQil d) 5124 s
3 | Vegetable, grass, tree etc. are which type of biotic components? 1
a) Producers b) Consumers ¢) Decomposers d) Transformers
3 | 2LSC%), 8y, gel dIR sAULUSReL B[S ees) 82 1
a) Gaulesl b) GUMISAL c) SISIULMR d) 2l slHA
4 Hungal deer is found in 1
a) Assam b) Meghalaya c¢) Uttarachal d) Jammu - Kashmir
¥ Hi 16 &L XAl HA B 1
a) ¥ LUIH b) Nelldy ¢) G UM d) ¥¥Y, - 51941
5 | Which element is most important in composition of biotic component? 1
a) Oxygen b) Hydrogen ¢) Carbon d) Chlorine
u (a5 el2se{l =AM 53 ded Alefl Hecaysl 82 .
a) H1[54%e1 b) ©1851%el ¢) Sluiel d) SElRel
6 Humans, animals, insects are component of ecosystem. 1
a) Biotic b) Abiotic ¢) Physical d) Chemical
< HIQLAL, ULl ¥l A 5l [l 25 8. a) WIbl[2s b) 1
WWRIES o) llds d) 3Msa
Which of the following is an artificial ecosystem?
7 | a) Desert b) Fish Pond c) Forest d) Pond 1
9 | oflAsiyiell 53 534 BadaA 82 1




a) 20l b) HIE] €2 ¢) del d) dold

In cell of organisms, DNA, RNA the important element is?
a) Carbon b) Nitrogen c) Sulphur d) Phosphorous

Ul 51N, DNA, RNAHI H&cdosj ded 87
a) 516del b) oll521%1 ¢) UESR d) S16Y

Leather back turtles are only found at .
a) Gulf of Kutch b) Andaman Nicobar Islands c) Kerala Sea coast d) Jamnagar
Sea coast

A4 As SIAGLL§SA_ UR % B1dLUA B,
a) 53891l AW b) WielHlel [A51I1R 21y ¢) 301 A (Se11R) d) HAR A
(51121

10

What is approximate content of Nitrogen in the atmosphere?
a) 22% b) 60% c) 72% d) 78%

q0

AlALARRIM ellE521osel of viel(d UHIQL 32g 87
a) 22% b) 60% c) 72% d) 78%

11

In the pyramid of numbers, the population of IS maximum.
a) Producers b) Primary consumers c¢) Secondary consumers d) Tertiary
consumers

4

duy1\etl [URLHSH, ol ddl Hedu 8.
a) Gaules) b) UleHs GUellsdl o) (dld GUellsdl d) dld GUeilsdl

12

Organisms contain about % carbon.
a) 6% b) 21% c) 49% d) 78%

QR

UXAHL 41213 % Sludet S1Y B,
a) 6% b) 21% c) 49% d) 78%

13

Which of the following drug used for veterinary purpose is the cause for death of
vultures?
a) Chloroguine b) Diclofenac ¢) Azithromycine d) Paracitamol

13

Jfletell Yol S12QLUQLRI[SRLL &d HI2 dURLd] «{lAe el 58 edl 82
a) 51 [5cel b) SIsAldeils ¢) WelUillel d) WIleHld

14

In a food web, human is .
a) Producer b) Only primary consumer c) Only secondary consumer d) Primary
and secondary consumer

¥

§SAWHL Histd B,
a) GULeS b) HIs WIS GULSAL ¢) HiA (gld GUellsdl d) UlaLMs A4 [gdlu
NI EST

15

Repeated sound of dB on out ear reduce hearing capacity
a) 15dB b) 80 dB ¢) 110 dB d) 150 dB

Qi

Slelof]l 04sR dB el clRAIR ALl Uittncllef] &Hdl eels &
a) 15dB b) 80 dB c) 110 dB d) 150 dB

16

What is carbon dioxide content in atmosphere?
a) 3% b) 0.1% c) 0.03% d) 10%

s

Al LCRRIH] S16dst SRSALOSe] UHLSL Q B2
a) 3% b) 0.1% c) 0.03% d) 10%

17

Which of the following is found maximum in e-waste?
a) Plastic b) ferrous metal ¢) non-ferrous metal d) glass

9

o1 st ief] s §-deui Alell ay oslcl HA B2
a) \WlR2s b) 51 N2d ¢) «ill 54 Hed d) 261y

18

Which gas has produced adverse effect on Taj Mahal?
a) CO b) SO2 c) CFC d) Hydrogen

@

dAlHE UR U] A Uld50 MU 52 8?2
a) CO b) SO2 ¢) CFC d) &l85S1%t

19

Which of the following is biodegradable?
a) Paper b) DDT c) Plastic d) Aluminium

1€

o[ AstiHief] 53 WIRA(SASE B?




a) 519101 b) DDT c) W25 d) A )M [y

In which unit sound is measured?

20 a) Kilometer b) Pascal ¢) Kilogram d) Decibel
g0 | iAIT SUI A SUH HIUCIH] 41 B2
a) [sellHle? by ulrsd ¢) (54l d) Slwd
21 TDS_ is term related with? _
a) Air b) Water ¢) Gas d) Solid Waste
TDS 2l0£ il A& Aoi(td B?
A1
a) &dl b) UlQll ¢) A d) All@s dze
29 Which of the following is not an aerosol?
a) Radiation b) Mist c) Dust d) Fog
o[ Aot iel] 53 w1414 e1efl?
W N
W) (SARIst b) BLSU ¢) Yol S) gy
93 ‘Minamata’ decease is caused by .
a) Mercury b) Lead c¢) Zinc d) Manganese
23 HeAMIdr Y oAl SRE U B,
a) URL b) A1y ¢) A5 d) Hls{lx
24 What is the pH value of acidic water?
a) 7 b) More than 7 c) Less than 7 d) 0
2% A R1(Ss uLlle] pH Y& 9] 82
a)7b)7eldyc)7el ¥\ d)o
o5 In waste water treatment plant, detritus tank removes what?
a) Floating matter b) Grit and sand c) Qil, grease d) Bacteria
- de dler Zledee Wieaui S22y 2isl 9 & 52 87
a) ddl dd b) 5Ul U 3l ) A4, Al d) As2RUL
26 What is the main product of photochemical smog?
a) PAN b) Oxygen c) Carbon dioxide d) Methane
% slel3(Hsd #olsf Hud Gallee 9 82
a) PAN b) ¥1L(54%1 ¢) 516{et SRILSULBS d) (Hel
97 What is the size of aerosol particles?
a) Less than 1 um b) Less than 1 mm c) Less than 0.1 um d) Less than 10 um
29 ARGl 50 5¢ 32q &7
a) 1 um 53l 1€ b) 1 mm 5l ¥\ ¢) 0.1 pm 5l A1 d) 10 pm Sl MY
BOD measures .
28 | a) Content of bacteria b) Content of inorganic matter c) Carbonic matter in
domestic sewage d) None of the above
BOD g} HIU 8?7
¢ | a) ASSRUL UHLRL b) USL(e15 ¢ of UHLGL ¢) €3G a2 Ui s10{l[s15 uglel o
WHI8L d) BURSdHiell 516 «iel
29 Which of the following is a renewable source of energy?
a) Petroleum b) Forests and vegetation ¢) Natural gas d) None of the above
2 DB su}@‘m&ﬂ Yot:U [ Ald 87
a) U2l [Guy b) 216 ol detu[d ¢) Secll iy d) A5 ULl of&l
30 In which wind turbine, the shape of rotor blades is egg bitter type?
a) Darious b) Savonious c¢) Darious savonious d) None of the above
30 | 54 [Alos 2uilgetHi 2122 cASe) w112 WL 6{l22 UsIReA cly 82
a) SIZ1AA b) AUldl={luy ¢) SIRIUY Aldlefldd d) GUAsdu il 15yl sl
31 In which process, dry biomass is used?
a) Pyrolysis b) Hydrogeneration ¢) Hydrogasification d) All of the above
3 S UsAMD Y1 HIAMIY o1l GUALL ULy B?
a) UIRIRA[E[R1™ b) 1651913211 ¢) LISV RA[E521e d) GUR S dHIH
39 The minimum average annual wind speed required to setup wind mill is?
a) 25 km/hr b) 35 km/hr ¢) 15 km/hr d) 45 km/hr
3R | Udsyssl dleddl HI2 ose3] Udeisfl dgdu A3 dlfs alld 9f 872




a) 25 [sHl/sals by 35 [sHl/sals ¢) 15 (sHl/sALS d) 45 [sHl/s4LS

Silicon material

33 | a) can resist very high temperature b) has high boiling point
c) is very hard d) All of the above
Rilaslet um3il .
33 | a) Wl QUL dluHleistl Uldslz 531 25 8 b) Gl Gesdsl [tig, b1 & ¢) Wi o
AUd 8 d) GURSd dHIM
Nessel is used in
34 | a) Darious and turbine b) Savonious wind turbine c) water pumping wind turbine
d) horizontal axis wind turbine
Ayl Gulol ULy HIYRY Y
3% | a) SRUU v 2W[8el b) AdlUY [AeS 26iloet ¢) dler UMidl [des 2uiledt d)
SR\ W (54 [des 20yl
35 Biomass is a energy source
a) conventional b) alternate c) renewable d) modern
NTERENETEN Glost 4l B
34 .
a) UUR19Ld b) ds(eus c) siclo{l 5201 d) 214+t
36 The design of blades of HAWT is
a) Aerospace b) Aerodynamic c¢) Aerometer d) All of the above
3¢ | HAWT ol 0@ Se{l [SHI©et 8
a) WA b) WRASIUAMS ¢) WAL d) GURASd dHIH
37 Wind farm converts wind energy to energy
a) Solar b)tidal c) physical d) electrical
[des s14 Udel Glodla Gl 2U{dRd 52 B
39
a) ¥R b) ¢dl ¢) &ll(ds d) (gL
38 The solar water heater, the circulation of water is made by
a) Small pump b) large pump c) Naturally d) siphon
3 AR dle €ler, ulgils uReusl GRUSAMI A B
a) silell YU b) H12) YU ¢) §e2dl 2ld d) A1© sel
39 Feeding material of biogas plant is .
a) Plastic b) Rubber c) Steel d) Agro Waste
WIRAY Wleedl SISl 8.
3¢
a) WIS b) 2R ¢) 2216 d) WAL dre
Between which shafts, the gearbox of HAWT is provided?
40 | a) Generator shaft & out shaft b) Low speed shaft & high-speed shaft ¢) Output
shaft of Nessel d) With blade pitching system
Sl ALs2etl AR, HAWT o PIUR S MU M w1 87 a) %eiReR 2U1s2 el w162
¥o | 282 b) Al AULS QU182 wal elo-1lS 2182 ¢) AAds{l U1G2Y2 2ULse d) eas [URid)
[Rize U1
41 The arrangement of changing angle of blades in wind mill is called
a) Yaw b) Skew c) Motor d) Pitch
£ Ut $51H1 6QSell 518 Wedalel dlsaRla _ séaly 8.
a) Al b) 3y ) Hle: d) Iy
42 Large size wind turbine rotor rotates by .
a) Drag force b) Lift force c¢) Resultant of drag & lift force d) Reactive force
5 Hlel see (s 20i[pel 22 gL S B. a) 391 5l b) (@82 81 o) 391 A [ase
sls URWIM d) wld(sulRile oy
43 The reason fpr sea level rise is _ o
a) depletion in ozone layer b) Smog c) global warming d) Acid rain
%3 eRule]l quLll audie] 51261 2] _
a) wlloblel AU W& b) YA ¢) 2dlodd dL L d) WS dAUle
The Montreal Protocol is an international treaty designed to protect the
44

(a) Food chain (b) Global warming (c) Ozone layer depletion d) none of the




above

Hle2lud vlelsld A oll 8L HI2 UIAE WidRATIU (6 B,

vy a) WIEL U150 b) d6lodd dl (9] ) uilo3let 2l W& d) GUAsciHiell 215 Ul i8]
When was the first ozone hole discovered?
45 | a) In the early 1950s b) Between 1960 and 1970 c) Between 1980 and 1990 d)
1990 to above
vel whlet [69¢ sUIR NI &q?
¥U | a) 1950 =il &14Slefl 21 LdHi b) 1960 Wl 1970 «il AR ¢) 1980 Wal 1990 il 4R
d) 1990 &l GUR
46 Which of the following is a green house gas?
a) O2 b) Nitrogen ¢) CO2 d) SO2
< o[ 18]l s0] Aled ©1GU AY B2
a) 02 b) «11821%¢l c) CO2 d) SO2
47 Which is the climate change effect?
a) Cyclone b) Floods c) global warming d) all of the above
s lolledl URddelol 2UR 2f 87
¥9 :
a) Usdld b) Y2 c) 26loid ) [Hol d) GUASd dHIH
Which of the following is not an example of ozone depleting substances (ODS)?
48 | a) ChloroFluoroCarbon (CFC) b) HydroFluoroCarbon (HFC) c)
TriNitroToluene (TNT) d) CarbonTetraChloride (CCls)
o{1e1l Hiell 54 Aol AU $¢1121 UsLel] (ODS) o Gels o1efl?
¥¢ | a) sAR1sARSs16e (CFC) b) sloSlsalRAs16{el (HFC)
¢) 2L8ell82121g8el (TNT) d) Slel221561218S (CCly)
49 Which gas is least responsible for greenhouse effect?
(@) CO; (b) CFC (c) CH4 (d) N2O
e Alet €16 ©F52 HIZ sl Ay Alell Y] wdlelR B2
a) CO; b) CFC c) CH4 d) N,O
50 Which gas is mainly responsible for greenhouse effect?
a) CO2 b) CFC ¢) CHs d) N2O
Yo Al 16U BE52 IS SU A Hudcd AFdIWER B?
a) CO; b) CFC c) CH4 d) N2O
51 Due to ‘ozone hole’ in earth’s atmosphere, which rays come to earth’s surface?
a) Laser rays b) X rays c) Ultraviolet rays d) None of the above
w yeelell dldldRQMD bl (69¢ ol 512 Yedilell quIdl U sl (50 241d 82
a) AR (5281 b) & (5280 ¢) WealdlaR (580 d) GuRAsd 35 UQl il
59 CFC used in refrigerator contains?
a) Carbon b) Hydrogen c) Chlorine & Fluorine d) All of the above
W U2 Hi dupdl CFC U Q) €lu 87
a) 5lolel b) el Sloset ¢) SAlRet A §ElReA d) GUA S dHIM
53 Which of the following is not responsible for climate change?
a) Orbital Variation b) Solar output c) Volcanic eruption d) Acid rain
B lodledl URddel HIS oflAet Ml 53 BaloiEIR o1el?
u3
a) 4HRISall( (Aldudlb) AR A1G2YR ¢) wdlnMu] [dsle d) WS dRAle
54 Which of the following law is not relevant to climate change management?
a) Montreal protocol b) France agreement ¢) Kyoto protocol d) Paris agreement
uy o{1Ast 1 iel] SU) s1UEL 1Ll URdde cudel[Ust HI2 YAdld «1efl?
a) Hleglud Ul2lsld b) sledt 5202 ¢) sl wlelsld d) URY SR
55 Which of the following is/are green house gases?
a) Ozone b) Methane c¢) Water vapour d) All of the above
W ol At imiell sU) Al 16U a2l 82
a) W11t b) (Ml ¢) UIQfl+{l dR1x d) GURASd dHIM
56 What is full form of CFC?

a) Chlorofinolcarbon b) Chlorofluorocarbon c¢) Cleanfluorocarbon d) None of




above

us

CFC o Y llH 2} 87
a) Chlorofinolcarbon b) Chlorofluorocarbon c) Cleanfluorocarbon d) None of above

57

The environmental protection act came into force from .
a) 1972 b) 1974 ¢) 1981 d) 1986

49

Ul e w e of] qHEH | L),
a) 1972 b) 1974 ¢) 1981 d) 1986

58

Which of the following is method of rainwater harvesting?
a) Check dams b) Ponds & Reservoirs ¢) Khet Talawadi d) All of the above

uc¢

dRALel UIRledl AAe salefl Ueg(d olAei1mied] 56 872 a) ASSH b) dulld A
N 121 ¢) Wd ddldSl d) GUALSd dHIH

59

What is 5R?

a) Refuse, Reduce, Return, Repurpose, Recycle
b) Refuse, Reduce, Reuse, Repurpose, Recycle

c) Refuse, Reduce, Reform, Repurpose, Recycle
d) Refuse, Reduce, Report, Repurpose, Recycle

ue

5R Q| 8?7

a) Refuse, Reduce, Return, Repurpose, Recycle
b) Refuse, Reduce, Reuse, Repurpose, Recycle
c) Refuse, Reduce, Reform, Repurpose, Recycle
d) Refuse, Reduce, Report, Repurpose, Recycle

60

Which of the following is not included in "5R"?
a) Reduce b) React c) Refuse d) Recycle

<0

ol Aeiiiel] 53 "5R" Ui UHIRAE te]]?
a) Reduce b) React c) Refuse d) Recycle

61

What is full form of GRIHA?

a) Greek Rating for Integrated Habital Assessment
b) Great Rating for Integrated Habital Assessment
c) Green Rating for Integrated Habital Assessment
d) Group Rating for Integrated Habital Assessment

<1

GRIHA o Y2 <114 | 87

a) Greek Rating for Integrated Habital Assessment
b) Great Rating for Integrated Habital Assessment

c) Green Rating for Integrated Habital Assessment
d) Group Rating for Integrated Habital Assessment

62

Which of the following is not green building material?
a) Fly ash b) Silica fume c) Plastic d) Recycle aggregate

R

o1 Aet el 53 Alet (o4(€5o1 12 Rud wiefl?
a) 5613 A2l b) RiAsl s4H o) wWiRes d) Ru1usd Af1d12

63

Which of the following is not a component of roof top rain water harvesting
system?
a) Collector plate b) Down pipe c) Filter unit d) Storage tank

<3

1AM 2] 53 521U 3ot Al sld (2l (Mol s «1ell?
a) 54522 W2 b) SIGe ULBU ¢) (5622 Y[e12 d) 213% 2isl

64

The people residing within __ km of wild life sanctuaries are prohibited from
keeping arms without permission.
a) 5 km b) 10 km ¢) 15 km d) 20 km

<Y

qo2)d WHARWRUAL _ [5H]o{l 2ie2 28l 151 Ud1e19]] (detl 1R 2Avid o]
Yail6 8.
a) 5 (54l b) 10 (54l ¢) 15 (54l d) 20 (53]

65

Which of the following is not relevant to India's environmental law?
a) The water act — 1974 b) The forest act — 1980 c) The air act — 1981 d) The
environment act — 1984

€U

o1 Aet Ml 534 e11cde1l Ul slael A18 YAl «1efl? ]
)t dle W52 - 1974 b) 1 §132 W52 - 1980 ¢) 8 W2 W52 - 1981 S|) YA W52 -




1984

66

1 carbon credit = .
a) 1 ton Nitrogen b) 1 ton Carbon dioxide c¢) 1 ton Coal d) All of the above

<%

1slol3(se=_ .
a) 1 241 al1821%e1 b) 1 24l 510del SRILSULOS ) 1 24l S16A] d) GUALS dHIY

67

ISO — 14000 is related to?
a) Product quality b) Environmental management system in industrial units c)
Water pollution d) Preservation of biodiversity

<9

1SO - 14000 2Llsil w2 )
a) Vlseedl 9f(Qirdl 2491 b) w1 BLs WsHIHI ua Y cudelust Yalldl ¢) o)
o0 UeNBL S)) Bl (dcedlell gl

68

Which of the following is not the objective of water act 19747
a) To prevent water pollution b) To supply water c) To preserve water quality d)
To establish boards for controlling water pollution

¢

o[ Ao 11 ief] sU) w0 w141 1974 o1l G «iell?
a) UL UENRL Aeslddl HIe b) YISl Y Ulsq ¢) ulgilefl 2 iddl waddl Hi2 d) o
UENRIA [ [Ad 5cd1 HI2 6)Se{l e Ustl 5]

69

Which of the following is not an Idea of ISO 140017
a) Waste prevention b) Pollution control c) Rainwater harvesting d) Energy
conservation

4

o[ Aet el 5A11S0 14001 il AL [SAUL o1ei]?
a) 5UR (11281 b) UeNQI (1Al ¢) dRALE] ULQlell 2{As d) Gl A&

70

Which of the following is not the rain water harvesting method?
a) Green label b) Khet talavadi ¢) Percolation tank d) Nalla pluging

9o

o[ Aot (Hiefl 58 d¥1estl UIRlletll AAse] Ueg[d «iell?
a) Alel Qg b) Wd daldsl c) us1delel 2isl d) stlal w3l




